BIC

5x10°

log[ Relative Probability ]

—200

Window Half—Width (km/s)

2x108

108

2x10°

5

10

—100

1000

100

rm839 X%/ (410951-4954)=2.020
F——— - - T - - - ' 1 - ~ - T T r T T T 1T ' T T T T T T T T 17
BIC 883963.56 ABIC 0.000 AlogP 0.0000
I X% 819927.00 Ax? 0.000 AlogP 0.0000 ]
C. o _ . _ _ _ _2BEC
—=e— ]
L 4 X2
I 4954 ]
A
L L L L | L L L L | L L L L | L L L L | L L L L | L L L L |
5 10 15 20 25 30
30 iterations
rm839 ¥%/(410951-4954)=2.020
r—+ -~ 1 1.+ 1 r r r 1 v T v ' T ' T T T 1]
I BIC 883963.56 ABIC 0.000 AlogP 0.0000 |
[ x2.819927.00 Ax% 0.000 AlogP 0.0000 _
Fe2 6% 351511 km/s
rm839 BLR 15000 NLR 900 km/s
F——— . - T r - - ' 1 - ~ - - T r T T " 1T T T T T T T T T T 17
I =T
NLR
Fell

30 iterations

kdh1 11-0ct-2021 19:31



